Imperativo usted
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Horizontal
1) USTED/IR (NEGATIVE)
3) USTED/DOBLAR (NEGATIVE)
4) USTED/SALIR (NEGATIVE)
7) USTED/SUBIR (NEGATIVE)
11) USTED/DOBLAR (POSITIVE)
12) USTED/CRUZAR (NEGATIVE)
14) USTED/SUBIR (POSITIVE)
15) USTED/PARAR (NEGATIVE)
16) USTED/DAR (POSITIVE)

Vertical
1) USTED/QUEDARSE (NEGATIVE)
2) USTED/IR (POSITIVE)
3) USTED/SEGUIR (NEGATIVE)
5) USTED/SER (NEGATIVE)
6) USTED/QUEDARSE (POSITIVE)
8) USTED/CRUZAR (POSITIVE)
9) USTED/BAJAR (NEGATIVE)
10) USTED/SER (POSITIVE)
13) USTED/DAR (NEGATIVE)
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